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Biology Chapter 3: Flowers & Seeds

Name: KEY
50 r." Date:

(1pt): How mucH did you study? Be Honest! Close to... Omin 10min 20min 30min 40min 50min >1hr

Matching
1. M quolla '
2. 'D Horticulturist
3. [5\ Hybrid
4, I Gamete
O E! Nectar

6. 3’ Samara

7. L Anther
Q 8 A Stigma
9 F Sepal

11. K Fruit
12. E Seed

13. C Radicle

14. e Cotyledon

A) Where pollen collects before a pollen tube forms
B) Stores food for growth of plumule and radicle
C) Could become the roots of a new plant

D) A person who studies vegetables and fruits

E) Fully developed and matured ovule

F) Encloses and Protects Petals

G) Main cause of hay fever

H) Sweet liquid used to attract insects

1) a reproductive cell

J) Dry fruit with wings

K) A fully ripened ovary

L) Produces polien

M) All the petals of a flower Collectively

N) This is a cross between two plant species
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Short Answer

15. Explain the process of pollination and fertilization.
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17. Draw a dicot seed. Label the parts using the following 4 terms: plumule, hilum,
seed coat, and radical. & cortn SQ (*-
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Match the following fruits with their description (5 ?h .5 eaf W

18 several flowers A, Berries

19D pod with many seeds B. @ Drupes

20. E__ dry fruit with hard shell . Pomes

21.& ___ fruit of graminoids Legumes

22. B i outer fleshy with pit . Samaras )
23. "7 [fleshy, juicy through all . Nuts

24. G_ _ dry fruit with thin shell . Achenes

5. r,—; L Sy SsuRnwahwings Grains

26.C : fleshy with papery core . Aggregate Fruits

27. l_ one flower, several pistil Multiple Fruits

28. Identify the type of fruit (1pt) and the climate in which it’s grown (0.5 pt)

a. Acornis a(n) A%Y) "’ and grows in “I"g MF[ gk
b. Sunflower is a(n) 6 bg N and grows in _4:_%&

C. OAG Cogdds a(n) d c \)eg andgrowsin _ S 1}10 ‘!V"_JQ,'C P )

d. Appleis a(n) “YO me. and grows in “'efm‘gd A.k
e. Strawberryis a(n) Qagcg 3&5 and grows in "‘(—N\(\nfﬁx'{
f. Pineappleisa(n) __ Mv \‘R g_\_ﬂ ‘(“"‘ snd grows in ‘\*‘9 ?: (.g_‘_
g 'O ﬁamgc is a(n) b&(f \4\ and grows in _S‘lkh_‘_l‘lv'ap C4Q |
h. Peas are a(n) lgs_gM and grows in ’\”v"\g‘h’w‘{

l'/\qf(p,s —> Samares — kW{ (.(P{-h\\
\ “
e —7 geain—3 sub¥ropical
o(e«f\VH — \4’{1\/("\05 = 5U\DV°?:°“\

L\“‘k\»ccrlcs — aggregmlc ~ '\'ew\‘)u O\'I‘Q /\;%
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Label the flower diagram.

Parts of a flower

2) Ce ce(h\c_Q

3) ﬁsp\o v\\
4) ?e,'(-ﬂ,
5) D FS{\' |

{ ,
6) 5:(53ma

7) §:l=f le

8) oV QDF

9) Slares

10) av\“Mf

11) 5\"0; N\Q,l\

Bonus: Give an example of a plant that uses mechanical dispersal to scatter its seed
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